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8. | know where he lives which type of sentence- Complex Sentence
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b-. A reward has been announced for the employees who — hard. — have worked
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Sbr. x*3 +1 and x*2 -1 9T APIS- (x +1) (x-1) (x*2-x+1)

9. A person who writes about his own life- An Autobiography
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. The boy from the village said “I........ starve then beg” — Would rather
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0. Arolling stone gathers no moss. What “rolling” is ? — participle
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00, A swimming snake bit him in the leg. Here swimming is- Gerund

08. i always take an umbrella —-it train. in case
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80. Famous antonyms- obscure
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8. Which one is indefinite pronoun- Anybody
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8¢. The passive form of the sentence, “Some children were helping the wounded man”- The wounded
man was being helped by some children
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€9. Which sentence is correct- He is as good as me
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¢b . Choose the correct indirect speech — She asked me, "Are you happy in your new job?” — She asked
me if | was happy in my new job.
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Y¢. The birds and the bees means- The basic facts about sex
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Q¢. Choose the correct sentence- The rich are not always happy
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